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Plots with constraints

e Small regions (following previous paper) around

a, = (2.540.6) x 1077, Sa, = (—8.7+3.6) x 10713,

e perturbativity requirement
|Re(ng)| < 250 GeV.

e Red regions correspond to the requirement of an excess in ppger — S — 7777 ; the excess can
arise from H, A or from both

e “Repeated plots: blue for analysis without the excess, red for analysis reproducing the excess,
blue+red for both overlayed
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Figure 1: Re (ny)
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Figure 2: Scalar masses
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Figure 3: Re (ny) vs Masses
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Figure 4: Re (ny) vs Masses
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Figure 6: Re (n,) vs. tan 3
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